PRE COURSE EVALUATION

1.  Write the equation that represents the formula for the perimeter of a rectangle, 
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2.  Evaluate the expression:  
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 for x = 3 and y = 4.

3.  Choose the coordinates of the point that lies in the second quadrant.


a.  
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c.  
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d.  
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4.  Simplify:  
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5.  Simplify:  
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6.  Simplify:  
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7.  The opposite of 
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8.  Solve:  
[image: image11.wmf]2

3

2

2

=

+

x

x


9.  Solve:  
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10.  Solve:  
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11.  Solve:  
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12.  Solve:  
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13.  Solve:  
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14.  The ratio of black walnut to red oak trees at a tree farm is 4:5.  The tree farm has 1200 black walnut trees. How many black walnut and red oak trees does the tree farm have altogether?

15.  Which pair of ratios does not form a proportion?


a.  
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b.  
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c.  
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d.  
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16.  A street map has the scale 5 cm : 1 km.  A street is 4.25 km long.  How long will it be on the map?

17.  Simplify:  
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18.  The prices of nine homes in Swanton are given below:


$89,000

$145,000

$180,000


$675,000

$147,000

$158,000


$163,000

$89,000

$120,000

Find the mean, median and mode.  Explain which of them best describes the data.  Round the mean to the nearest whole number.
19.  Solve:  
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20.  The ratio of the length of a side of one square to that of another square is 4 : 7.  A side of the smaller square is 12 feet.  Find the length of a side of the larger square.

21.  What is 30% of 120?

22.  28 is 70% of what number?

23.  12 is what percent of 30?

24.  Evaluate 
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25.  Solve for x:  
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26.  The sum of three consecutive integers is 102.  What are the integers?

27.  Evaluate:  
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 for x = 2 and y = 3

28.  Which ordered pair is located on the y-axis?


a.  
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c.  
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d.  
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29.  Evaluate 
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30.  Simplify 
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31.  Solve:  
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32.  Solve:  
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33.  Solve:  
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34.  Translate the sentence into an equation and then solve.  Show all work and steps.


Four less than five times a number is 21.

35.  Evaluate 
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 for x = 2 and y = 3
36.  What is the range of the function 
[image: image37.wmf]5

2

2

-

=

x

y

 when the domain is 
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37.  The number of students who are active in the computer club has jumped from 7 to 19.  What is the percent of increase?

38.  Solve the equation 
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 for x.
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